54 100m 64 & 100m

JIERT gk X4 ] 1 H Kex = JIERL Gk K4 FTE s Kex =55
1 13.96  KFF bkt EN 11, 4 /NPERE L 1 13.47 TRMW WAL ESSFFEE 11 3 ANVEAElk A
2 14.13 7 %A KH L1 4 AR 2 13.57 BLE T i) 6.24 2EET A
3 14.47 2% A e 11, 4 /NPAERE L& 3 13.60 KRAM ¥ BlEF 11. 3 /ARSI LA
4 14.48 Bl HifF e 11 4 /NEERR U 4 13.80 Z@HE  HEF 77 11.12 Sh&ot1 AR
5 14.72 #% % g L1 4 /NS L 5 13.82 @k wimk LHEBHSC 6,24 BERT A
6 14.73 [T EA (RS 11, 4 /NVPAERE L& 6 13.87 ZHE Heh 6.10 —&k 2[HIH LR
7 14.78 JIlE +E 11 4 /NP L 7 13.89 @i 7 FEH 6.24 AT LA
8 14.89 @Il 4 i L1 4 AR 8 13.94 KM HE AR 6.24 2EET A
9 15.08 Ff L PGl 6.24 £2EET A8 9 13.95 /bl % et 6.24 A[EET LR
10 15,11 BRIl WBE " 11 4 /NEERR U 10 13.96 M Jeodt R 11, 3 /AR LA
10 15.11 AR WAK fildb 11 4 /RS LA

54 & 1000m 64 Lt 1000m

JIERT  FRdR K4 ] A Rz e JEhE  Fedk K4 Bz WA KE e
1 3:20.43 B HA PGl 1112 Sh&Eo>7 M 1 3:04.79 /I Fix #EJIC 11.12 Sh&o7 AR
2 3:30.65 AfAKk IR [Eoy=Fraas 11 4 NPARE AR 2 3:117.97 EIF EH A 11, 3 /AR LA
3 3:3L.72 RiEAF %k AT 11.12 Shx o1 3 3:19.18 HEAR <iux  kE 11, 3 /hE®EE A
4 3:36.91 Ky FiER N 11, 4 /NPAERE L& 4 3:27.98 [l L RAKF 11. 3 /e LA
5 3:37.83 AP HHE FEH 11.12 & o7 Hfl 5 3:28.96 fEfY Bk +E 11, 3 /@y A
6 3:37.84 ihfH EHE EHSFAEE 1112 Sh&E >+ A 6 3:20.78 AH HE (Al 11 3 NVEAERR Afa
7 3:38.82 (LN ITHE FLAL 11, 4 /NPAERE L& 7 3:29.88 EfE OMelz MEH 11.12 Sh&E-7  Afl
8  3:39.02 B I EAE 11.12 ShExoF Hf 8  3:32.73 TH B 513 1112 ShE-7 Afl
9 3:39.40 Al O | 11.12 Shx o1 9 3:33.12 kW HE et 2 6.24 &ELT LR
10 3:39.54 =4F > el 6.24 £2EET A8 10 3:33.34 /NRBRE i 11. 3 /e LA
54 8 0mIH (60cm) 64 & 8 0mll (70cm)

JIERT gk K4 ] 1 H Kex = JIERL Gk K4 FTE s Kex =45
1 14.06 JNHL [EFE ST 11, 4 /s uf 1 13.07 i O/ #EH 11, 3 /ARl Af
2 14.20 I B TR T g L1 4 AR L 2 13.60 #& wFlK T 11 3 NVEEAERR Afa
3 14.23  XiE  FUAT R 11, 4 /NPAERE L& 3 13.68 @i fEi B 6.24 2[EET LR
4 14.33 AR KH 11, 4 /NFAERE LA 4 13.70  BIsE  RHS e 11. 3 /AR LA
5 14.54 KEF i) L1 4 AR L 5 13.78 F|)I  EidAr i) 6.24 2EET A
6 14.66 A R ARAKACER 11, 4 /NVPAERE L& 6 13.81 KE B Bt 11. 3 /e LA
7 14.76 KV %A g 11 4 /NEERR 7 13.99  ARAF FE 77 6.24 AT LA
8 14.77 H#BH FHE i Eld L1 4 AR L 8 14.01 [AA  fEF] it 11 3 NVEEAERR Afa
9 14.83 &I U7tz ET 11, 4 /NVPAERE L& 9 14.06  AfmE 67 i 11 3 NVEAERE Afa
10 14.96 "R BE it 11 4 NP L 10 14.13 @i MR B 11 3 NVEAERRE Afl
54 T A ek 64 T Bk

JIERL AR K4 EI] A K 2 JENE Rk K4 FTE W H K =
1 m26  AEr O Ve 2.11 EANBEE Bk 1 m32  HE &R AR 11 3 NVEEAERR Afa
2 21 I P Al 2.11 ENBE Bk 2 1m29 4B R FEH 6.24 A[EET LR
3 m20  fid A KEFJ, 11 4 /NPAERR U 3 m27  CFH A% KWRE 6.10 —&k2[HIH LA
3 m20  #fE HiE FREH L 4 AR L 4 m26 Pl AhE i3 11 3 NVEEAERR Afa
3 m20  BRAT Mkt EYi 11, 4 /NVPAERE L& 5 m25 HEA A — R 6.24 A[EET LR
6 Iml8 KA B BEF 2,11 NPk Bk 5 Im25  rhiEp S 11, 3 /AR LA
6 Imi8  fEA K KEFJ 2.11 EANBEE Bk 5 1m26 B4 H¥E KH 11, 3 /NE®RE A
6 Iml8  EHME KAt B 2.11 EANBE  BUK 5 m25 W IR iR 11. 3 /RS LA
9 Imi5  RE EF Al 2.11 NP BUK 5 m25  FR <HAH WOk 11, 3 /AR LA
9 Iml5  BA B it 11 4 /RS LA 5 m25 M T =T 11 3 NVEEAERR Afa
9 Iml5  EiE AR YR g 11, 4 /NPAERE L& 5 m25 (B {AE 1N 11. 3 /RS LA
9 5 1y7 h7)-F 2 11, 4 /NPERE LA 5 m25  H Hox B 11, 3 /AR LA
9 Iml5 (i ARk JETR 11 4 /RS LA

9 Iml5  HA PR 1A 11, 4 /NPAERE L&

9 Iml5 B O i 11, 4 /NSRS

9 Iml5 BT N 11 4 /RS LA

9 Iml5  fEE E1S 11, 4 /NPAERE L&

9 Iml5  JRME M e 11 4 /NEERR L

9 Iml5 g EF FFRg 11 4 VR L

NER



54 &+ gk 64 Lo Ak

JIERT  FRdR K4 ] A Rz e JEhE  Fedk K4 Bz WA KE e
1 4ml0  FERT T 11, 4 /NPAERE L& 1 4md9 R == BEy 11. 3 /ARSI LA
2 3m96 I AT SRR 11, 4 /NFAERE LA 2 amd3  FER R I 11, 3 /ARl Afl
3 3m92  TIHh WA ol L1 4 AR 3 4m33 L Bk RI9577 6.24 2EFT A
4 3m85  VHRH KAy i e 11, 4 /NPAERE L& 4 4m3l  FEfEHE jUIE 11. 3 /ARSI LA
5 3m84  EHA FFx L 11 4 /NEERR U 5 4m25 KAk IR REF 6.24 AT LA
6 3m83 I A& i b 11 4 /RS LA 6 m2l  PEAS R AN EE— 11 3 NVEEAERR Afa
6 3m83  WHE AETE AT 11, 4 /NVPAERE L& 7 1ml8 T HxEr FHEd 11. 3 /NVPAERE LA
8 3m77  RERX A W 11, 4 /NPAERE LA 8 4ml6 R IEK 5] 11, 3 /AR LA
9 3m75  AEM EE FeH L1 4 AR 9 ml3  HR KK T 5.27 —k 1[EIH A
9 3m75 K BEK [E4ySFALE 11, 4 ANEERY L 10 4m01 [ +E 11. 3 /NVPAERE LA

54 & RO TE Nz 64 LF Y an Dy I

JIERT gk X4 ] 1 H Kex = JIERL Gk K4 FTE s Kex =55
1 46m33 A K Lhih 8.19 LM ik 1 53md7  [HH O o 11, 3 /ARl Afl
2 38m93 M EIE JIITE L1 4 AR 2 52m65 KB ERME JIES 11 3 NVEEAERR Afa
3 38m56 KT M7 KK 11, 4 /NVPAERE L& 3 49m85 BT R FEEdl 11. 3 /e LA
4 3Tm98 % FiE IR 6.24 RETY A 4 48m94  FiH W51 11, 3 /AR LA
5 3Tm63  UE  fEJY FAE L 4 AR U 5 47m82 AR EEx 1 11 3 NVEEAERR Afa
6 3Tm28  EA K JIE 11, 4 /NPAERE L& 6 4708  HPE A K¥ 11. 3 /e LA
7 3Tml9  THE I KEFIR 11, 4 /NFAERE LA 7 46m06  VEEF AL Al 11, 3 /AR LA
8 36m86  AAK PEDE RALRE L1 4 /NP L 8 44m39 T A EZ2 11 3 NVEAERR Afa
9 36m02  EJI HAE ey 6.24 £2EET A8 9 43m01 K% pias| 11. 3 /e LA
10 3/md0 WA bk FEH 11, 4 /NPERE L 10 41m98 AL ik E753 11, 3 NP A
10 3Bm0  FE X< ARRALH 11 4 /MRS L&

54 H+ 100m 64 B 100m

JIERT  FRdR K4 ] A Rz e JEhE  Fedk K4 Bz WA KE e
1 13.71 A& # JI1 T 11, 4 /NPAERE L& 1 12.72 ik R EA) 11. 3 /e LA
2 13.90 Il B 2 11, 4 /NFAERE LA 2 12.73 K& RAv L 11, 3 /AR LA
3 13.98 (i BEA i 11, 4 /N ufl 3 12.77 Ul Ak IR 11. 3 /RS Ak
4 14.04 b ik T 11, 4 /NPAERE L& 4 12.91 Mg —2z#h ALk 11. 3 /e LA
5 14.07 KPE Bk IR 11 4 /NEERR L 5 13.03 Kfr ez Bl 11. 3 /AR LA
6 14.14 fi%E R KA 8.19 FEZ Bk 6 13.10 J\H FE P 11 3 NVEEAERR Afa
7 14.18 KM 3kAg IR 11, 4 /NVPAERE L& 6 13.10 #&A RKRES EEIT7 9.30 mfATEFHE B
8 14.19  ZHlE AKX it 11, 4 /NFAERE LA 8 13.18 PER Fit {LZE 1L 11. 3 /AR LA
9 14.27 #EH ERE e L1 4 AR L 9 13.19 HRi HFE JEIR 11 3 NVEEAERR Afa
10 14.38 FEA WK el 1112 Sh&Eo>7 M 10 13.22 tJF HETER AKM 11 3 NVEAERE Afa

5 HT 1000m 644 BT 1000m

JIERL AR K4 EI] A K 2 JENE Rk K4 FTE W H K =
1 3:16.15 AL ALK W 1112 ShE -7 i 1 2:57.85 MIE  BEH) —5 11 3 /AR A
2 3:17.52 P & §3= 11, 4 /NVPAERE L& 2 3:10.84 @) #® = 11. 3 /RS LA
3 3:20.49 fERE AR 1112 &h&o>F Al 3 3:11.50 JERE IR% AR 11. 3 /AR LA
4 3:23.60 kJII @K BlEF 11.12 Shx o1 4 3:12.03 (EEh B KK 11 3 NVEEAERR Afa
5 3:25.36 il O PG 11, 4 /NVPAERE L& 5 3:12.12 JBR HEfE E4ydbis 11, 3 VR Al
6 3:25.97 PR UG K 11.12 ShExoF Hf 6 3:12.91 KA Znff AN — 11, 3 /ARl Afl
7 03:26.07 Hl {3 HEH L1 4 AR L 7 3:13.46 FHKF AR 2 H 11 3 NVEEAERR Afa
8 3:27.37 JTiE HW =] 11, 4 /NPAERE L& 8  3:14.73 JNiE i KH 11. 3 /RS LA
9 3:27.44 BAA R FHESFHGH 11, 4 NP L 9  3:14.81 ¥ HE FR R 11, 3 /AR LA
10 3:27.68 JEn 3 LT 11, 4 /N St 10 3:15.08 REH B &7 11, 3 /NE®RE A

54 B 8 OmH (60cm) 64 B 8 OmH (70cm)

JIERL  FRdR K4 ] A Rz e JEhE  Fedk K4 Bz WA KE e
1 13.09 SEAE i M 11, 4 /NPAERE L& 1 12.48 BT 4R jUIE 11. 3 /RS LA
2 13.22 R OkE [HFras 11, 4 pAhEg Ui 2 12.64 fEA FEKES  JIDR 11, 3 /NAEEE LA
3 13.68 PHL A FAE L1 4 AR L 3 12.83 M ObAr fLAL 11 3 NVEEAERR Afa
4 13.68 JIHR i YR g 11, 4 /NPAERE L& 4 13.03 A1)l B FEE 11 3 NVEAERE Afa
5 13.70  FHHI fE L 11 4 /NEERR L 5 13.09 fex A FHk  @iahd 11, 3 /AR LA
6 13.80 @A #ER i L1 4 AR 6 13.27 M EH R 11, 3 /e A
7 13.91 K% KB R 11, 4 /NPAERE L& 7 13.28 kb RE jtag 1L 3 /Ny i
8 14.03 A Bt SH 11, 4 /NFAERE LA 8 13.31 Ml 16 R 11, 3 /AR LA
9 14.10 & w5t el L1 4 N 9 13.37 k@ 5P [FES 11, 3 /e A
10 14.16 @A R PG 11, 4 /NVPAERE L& 10 13.39 il Bk #h 11. 3 /AR LA

NER
NER

NER



54 G+ ek 64 B+ A mbk

JIERT  FRdR K4 ] A Rz e JIERT  Fdk K4 Bz WA Rz e
1 m28 R Kk 1A 6.24 £2EET A8 1 Imdl  FEJE (A KIBF 5 2.11 NPk Bk
2 m25  HE A e 11, 4 /NPERE L 2 1m39 kAR HLE Ak 11, 3 /NpAEE A
2 m25 K&Kk el L1 4 AR 3 1m37 % @it 6.24 2EET A
4 m20 @& A B 2.11 EANBE  BUA 4 m36 T FE iR 11. 3 /ARSI LA
4 m20  JI bk KE ik 6.10 —%k 2[mH Aufl 5 35 [H R Al 2.11 EPNBkEE Bk
4 20  SEA K fihe L1 4 AR 5 m35 ) REFIE 2. 11 BBk Gk
4 m20 P HRER JITE 11, 4 /NVPAERE L& 7 m33 (LA SR &R 11 3 VPR Afa
4 20 AT MR 7q0E T 11 4 /NEERR U 7 m33  HHI fE-Rg LR 11, 3 /AR LA
4 m20  HR T o L1 4 AR 7 1m33 R R Pt 11 3 NVEAERR Afa
10 Iml5 K7 B3 B 2.11 EANBE  BUA 7 1m33 4B K —® 11 3 /NVEAERKE Afa
10 Iml5 22 EKH KREFJF 2011 =NBEHE  BUA 7 JUSEIS E I ) Sk 11 3 NVEAERRE Afl
10 Iml5  HH  #Ek BlEF 2.11 S|P Bk

10 Iml5 WG PEK KEFJ 2,11 ENBE Bk

10 Iml5 [ K 6.10 —&2[EH Al

10 Iml5 Rl FEK 5y 6.10 —k 2[@H A

10 Iml5  [IF K3k AT 11, 4 /NVPAERE L&

10 Iml5 S ECKH Al 11 4 /NSRS AU

10 Iml5  #IH EEK AR 11 4 /RS LA

10 Iml5 AR AL 11, 4 /NPAERE L&

10 Iml5 I AT 11, 4 /NFAERE LA

10 Iml5  7&E SV N 11 4 /RS LA

10 Iml5 W EE Jieh 11, 4 /NPAERE L&

10 ml5  tH FAE LIES 11 4 /NEAR AL

10 Iml5 (U B TR T g 11 4 /MRS L&

10 Iml5 R K el 11, 4 /NPAERE L&

10 5 FlE A Jr 11, 4 /s uf

10 Iml5  REFHEE R L1 4 AR L

54 G+ ik 64 B+ Ak

JIERT  FRdR K4 ] A Rz e JIERT  Fdk K4 Bz WA Rz e
1 4m21  EHAE O J-in] 11, 4 /NPAERE L& 1 4m88  HPH st +E 11. 3 /e LA
2 Am18 i RS ] 11 4 /NEERR L 2 4m83 Rkl FES & 6.24 AT LA
3 4ml7  BJIERK BlEF 6.10 —%k2[\H  Afh 3 4n79 KA BT iy 11 3 NVEEAERR Afa
3 4ml7  ARE M KK 11, 4 /NVPAERE L& 4 4n56 =4 Kb iR 11. 3 /e LA
5 dmls AR HiE JR T 11, 4 /NFAERE LA 5 4mbd FEL HERET B 11. 3 /AR LA
6 dnld  fErk R EN L1 4 AR L 6 b3 BB A JITH 11 3 NVEEAERR Afa
7 dmll R 2R HW 11, 4 /NVPAERE L& 6 4mb3 AR A E) 6.24 2[EET LR
8 3m95 AR HE [T 11, 4 /NFAERE LA 8 4m52  FPR R AK 11. 3 /AR LA
9 3m94  FIL HRRER L L1 4 AR L 8 52 =B K B 5.27 —R 1[EIH A
10 3m90 [l AN e 11, 4 /NVPAERE L& 10 1md3 R L SN 11. 3 /RS LA
54 B+ AR Y2 %3 64 BT PARSNAPYE % 4
JIET  FRd K4 FTE LEPSS 25 JIERT Gk K4 ] WH K =4
1 53m53  PHIRE  EREN +E 11, 4 /PR S NES 1 62m63  Frik 77 8.19 A[E%E i ¢
2 50m94  FAAR LAk SR L 4 AR L 2 57m03  EL pN:| 11 3 /R uf
3 50m77 A FHIE A 11, 4 /NVPAERE L& 3 53m90  HHf IHEH] AkE 11. 3 /RS LA
4 48m65 Rk HEK I 11, 4 /NFAERE LA 4 53md7 R HEA e 11, 3 /AR LA
5 4Tm70  fHE LA S L1 4 NS U 5 52m82 K% FEHH T 11 3 /R f
6 46m74 B R R 11, 4 /NPAERE L& 6 52m69 AL BK —E 11. 3 /RS LA
7 46m18  hff; KEF 11 4 /NPAERR U 7 52m36 K7 = KEFJE 11, 3 /AR LA
8 45m85 Il EA W L1 4 AR L 8 51m25  [iPE K W] 11, 3 /AR S
9 45m45 R PEsk K 11, 4 /NPAERE L& 9 50m76 HE KE B 6.24 2[EET LR
10 45m42 RS ONE KA 11, 4 /NPERE LA 10 50md6  ARA KK EZ 11, 3 /hpAEE Af

NER



